HWA4

Monday, October 24, 2022 2:07 PM

der 1 .
it 2> 4,8,5,10,9,7,3,6, |
orda =(0

3_9?/ S) 4'//
ovdor =5

/I\ > g/ q/ 3/ l
ordder=5

§ —>3,49,|
boder =5
primiteve G —> 3,7, ?//0,5: 8/4/ 2,1
ovley = (O

primitis, 1) —>85 2 3104, 6 9,8, ]

Octley =( O

prmtie ¥ >G4, 6,4103 2.5, |

New Section 1 Page 1






(]
— ‘Xswﬂ 7(%#/ = lreducible

Q [7 4L (Ne prove

Loy i yeduche <760 s
yedue: ble .

prvs Cppse  409) fox) ® o Aot
P L) i iy (g6c) < dggcfiro)
= 70@92 306}}\(%). -
Cloims - §7x) Kx)
me?? Plg= x™ o)
=X, 3(7(/)9}\(7(/)
- (7(”‘9 9 (‘7("())0 ((X“smlxbry
= 8"(7&). o)
— D B & vdweibk D 60



= B ) = otk D X0 &

Ye%u\c;bk).
The “Q/‘,q Aicaction s proven b/
foti 4 100200 0D

&[7 > SVPFOSQ, QO() Is ?hmd‘va_

[ l@@ﬂﬁ«cé >—F7€(‘7() Ny
> * —Qx) ) ‘rredhaeible

@ - 06)- % |-k
foc some L&) W, o%ﬁzcx)):z"-l—n
& wecx))( (me#/ fe ol
m< 2|

B)’ & > 'P*(X)-/@Q(%): ’X’l‘,-\-l 51




| ~ 7 /[

vv\<,)V\’_ ‘ N @/

<\4.PPDS€ O .

P A = X | o 2
n< 2™ |

(DTQH Z ~he rzdpmaz\l ,
I

) - R = K] ki
cotmdicts D = @ R

—te .
B)/ (D// @// @/ @ ‘—p%Cﬁ) s ?Jtl’nr‘ﬁ‘VQ,
The “-@; faion s by actig
DY 0) = 1)

—

|—> o=/ = Lol (=7
02—% oo (P =D (|
S>> oD > F oL = (' o=H
3 (>

=10 =S



s pol) =3 R = (1 o213
T = ol 0 =6 oAz [0 =9
Jis le\ll (bLlSr- ODO):()
L= (o (=]
=010 =8
> (o (0 =(0
> 2> 12,13
,0,8,6,] \'8,2)0) ”/D)’4/ 4, |
80125 8
20,484

220/3,!2/2

1213,4 6,4

11,0,10)14,(2
15/14/8 )2/ ,
3,0 D, &, 13

New Section 1 Page 6




3,0 2, & 13

[4 lo,[0 1>

= guotiod polymmial © Factt DAL (2% 4 (3
= oo ol o oxct °

Femairder  polynomial ° 424 (690 (0% 4 |2
— 03”7@ we o<q7c+ 6

New Section 1 Page 7



